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NE sz BRE S & OUT | IN |GROSS| HDCP | NET
62 |4 A8 38 42/ 80 13.0] 67.0
260 |ix FE 40, 39 79/ 11.0] 68.0
Mz Hm EA 36, 38 74 6.0/ 68.0
A (fnpE A 40, 38 78/ 9.0/ 69.0
oG |EH Fx 41 40/ 81 12.0] 69.0
66 |FBE FhFE] 39 43 82 13.0] 69.0
T60 |#RIR - F 36, 43 79/ 10.0] 69.0
8L |#E)Il =# 40 41 81 10.0/ 71.0
o= 39 42/ 81 10.0] 71.0
10 |HFE FIA 39 43 82 11.0] 71.0
N |FA Fi 42 39 81 9.0/ 72.0
1261 |BTH FHHE 44 42] 86 14.0) 72.0
13 el i 42) 43 85 13.0] 72.0
1441 |%7H 48 42) 43 85 13.0] 72.0
15 |HEx &% 40 41 81 8.0/ 73.0
1662 |/Ki#  [E1T 40, 42) 82 9.0/ 73.0
76 WA XiE 41 43| 84 11.0] 73.0
18fs /M1l 15BA 39 43 82 9.0/ 73.0
196 |BH 1E3% 42, 31 790 5.0/ 74.0
20 |1BE B 41 400 81 7.0/ 74.0
2162 | EA E— 43] 43 86, 12.0] 74.0
261 | —H 39 42 81 7.0/ 74.0
20 | mR B&E 38 43| 81 1.0/ 74.0
2845 /&I —*t 46] 42] 88 13.0] 75.0
251y |HfE Eif 45 42] 87 12.0] 75.0
2641 |BkRE IE 43 40, 83 8.0/ 75.0
2161 )l &t 44 42] 86 11.0] 75.0
280 AR IR 43) 42| 85 10.0] 75.0
2961 | ERIRF w17 40, 39 79] 4.0/ 75.0
0L AR & 44/ 44/ 88 13.0] 75.0
S |#kiR {E1T 42] 46/ 88 13.0] 75.0
200 MK HIT 38 45 83 8.0 75.0
33 |ILf EE 46 43 89 13.0] 76.0
AfL | KiE s 41 41 82 6.0 76.0
35 |HF Ak 39] 48 87 11.0] 76.0
366 |/ R 40/ 49/ 89 13.0/ 76.0
3L PR B 44 45 89 12.0) 77.0
38 |EH = 39 45 84 7.0/ 77.0
396 |s=H 2% 41 49 90| 13.0] 77.0
401 AR S 45 41 86, 8.0 78.0
M |E - 46 44/ 90 11.0] 79.0
261 BiH B 44| 42) 86 1.0/ 79.0
LB FX —5 46| 46 92| 13.0] 79.0
M T EF 49| 42 91| 11.0] 80.0
451 HE E— 47 48 95| 13.0] 82.0
4661 | FHE & 46| 47 93| 11.0] 82.0
4761 AN N— 46/ 50, 96, 14.0) 82.0
4861 |FFIS P 45| 52 97| 13.0] 84.0
4961 |FEHp B 45 50/ 95 9.0/ 86.0
50 |HBA 99| 45 104 11.0 93.0
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